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Fuzzy Identif ication M odel on ProductL ife Cycle

Chen Xinhui Qiao Zhong
(College of M anagement Engineering, CAU)

Abstract Based on the study of three indexes including product sale anount, profit margin
and market share, a fuzzy identification model on product life cycle is created It is tested
with an exanple, the result show s that this model is an effectively method by which a

product life cycle can be identified quantitatively.
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A,B,C3 3
1 A,B,C
A B C
/ / / / / /
% % % % % %
1992 3000 -6 5
1993 8 000 -2 8
1994 30000 20 15 4000 -5 4 12 000 2 3
1995 50 000 25 20 15000 0 6 24 000 16 8
1996 70 000 16 30 40 000 15 10 35000 20 15
1997 40 000 18 22 42 000 18 15 50 000 25 20
1998 25 000 15 18 50 000 25 20 65 000 28 25
, A,B,C ( 2,
3 10000 10%
2
a1l az as a4 as ae ar as as aio ail ar
10000 2000 15000 25000 35000 45000 40000 50000 60000 70000 65000 75000
b1 b2 bs ba bs bs b7 bs bo b1o b11 b2
10 20 15 25 30 40 35 45 50 60 55 70
C1 C2 C3 C4 Cs Cs C7 Cs Co C10 Cu1 C12
5 10 7.5 12.5 15 20 17.5 22.5 25 30 27.5 35
A,B,C
, 3
3 A,B,C
A B C
aly) b(y) cly) d(y) aly) bly) cly) dly) aly) bly) cly) d(y)
1992 1 0 0 0
1993 0.4 0 0 0.1
1994 0 0.4 0 0.1 1 0 0 0 0.8 0 0 0
1995 0 0.5 0 0 0.1 0 0 0 0 0.4 0 0.1
1996 0 0 0.33 0 0 0.5 0 0 0 0.5 0 0
1997 0 0.3 0 0.4 0 0.2 0.5 0 0 0.5 0 0
1998 0 0 0 0.4 0 0.3 0.5 0 0 0.5 0 0
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